# TABULATION OF BIDS

## Bid Schedule - Base Project No.: ERFO NERI 121(1) Project Name: REPAIR OF UPPER GLADE BRIDGE

State: County:	WV RALEIGH NEW RIVER GORGE NATIONAL RIVER	By:	Sterling, VA Shirley Anderson 05/03/2012	1
I certif	y that this Bid Tabulation accurately reflects the bids	received and	publicly opened f	or this solicitation.
	Signed: <u>Shirley Anderson</u> Title: <u>Contract Specialist</u>			Date: 05/03/2012
	Contract Awarded to: Pavkov Contracting Comp	any, Inc.		Date: 06/06/2012
Contrac	ctor		Bid Amount	Responsive
Pavkov Con 55 S. Guign	tracting Company, Inc. ard Drive		364,118.00	

Sumter, SC 29150

Kofi Consulting Services, Inc d/b/a 1207 Durrett Lane Louisville, KY 40213

Air Ideal, Inc 324 Grey Owl Run Chuluota, FL 32766

Engineer's Estimate

300,000.00

406,175.00

437,264.75

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
Pavkov Contracting Company, Inc.			ALL	27,000.00	27,000.00
Kofi (	Consulting Service	es, Inc d/b/a		50,000.00	50,000.00
Air Id	eal, Inc			88,181.00	88,181.00
ENGI	NEER'S ESTIMA	ATE		24,115.00	24,115.00
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
Pavko	ov Contracting Con	mpany, Inc.	ALL	7,400.00	7,400.00
Kofi (	Consulting Service	es, Inc d/b/a		5,000.00	5,000.00
Air Id	eal, Inc			3,786.00	3,786.00
ENGI	NEER'S ESTIMA	ATE		4,000.00	4,000.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
Pavko	ov Contracting Con	mpany, Inc.	ALL	6,500.00	6,500.00
Kofi (	Consulting Service	es, Inc d/b/a		15,000.00	15,000.00
Air Id	eal, Inc			3,155.00	3,155.00
ENGI	NEER'S ESTIMA	ATE		4,000.00	4,000.00
15705-0100	LNFT	SOIL EROSION CONT	ROL, SILT FENCE		
Pavko	ov Contracting Con	mpany, Inc.	100	31.00	3,100.00
Kofi (	Consulting Service	es, Inc d/b/a		10.00	1,000.00
Air Id	eal, Inc			7.58	758.00
ENGI	NEER'S ESTIMA	ATE		6.00	600.00
15705-1800	LNFT	SOIL EROSION CONT	ROL, TEMPORARY D	IVERSION BERM	
Pavko	ov Contracting Con	mpany, Inc.	150	189.00	28,350.00
Kofi (	Consulting Service	es, Inc d/b/a		200.00	30,000.00
Air Id	eal, Inc			67.31	10,096.50
ENGI	NEER'S ESTIMA	ATE		125.00	18,750.00
15706-2200	EACH	SOIL EROSION CONT	ROL, FILTER BAG		
Pavko	ov Contracting Con	mpany, Inc.	4	600.00	2,400.00
	Consulting Service			1,000.00	4,000.00
Air Id	eal, Inc			2,524.00	10,096.00
ENGI	NEER'S ESTIMA	ATE		1,000.00	4,000.00
20220-1000	EACH	REMOVAL, INDIVIDU	JAL TREE		
Pavko	ov Contracting Con	mpany, Inc.	1	2,100.00	2,100.00
	Consulting Service			2,500.00	2,500.00
	eal, Inc			1,010.00	1,010.00
ENGI	NEER'S ESTIMA	TE		1,900.00	1,900.00

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
20304-9000	LPSM	REMOVAL OF STREA	M DEBRIS (LARGE B	OULDERS AND DEA	AD TREES)
Pavko	ov Contracting Con	npany, Inc.	ALL	10,360.00	10,360.00
Kofi (	Consulting Service	s, Inc d/b/a		40,000.00	40,000.00
Air Id	leal, Inc			6,310.00	6,310.00
ENGI	NEER'S ESTIMA	ГЕ		9,000.00	9,000.00
20801-0000	CUYD	STRUCTURE EXCAV	ATION (ROCK EXCAV	/ATION)	
Pavko	ov Contracting Con	npany, Inc.	300	86.00	25,800.00
Kofi (	Consulting Service	s, Inc d/b/a		175.00	52,500.00
Air Id	leal, Inc			44.61	13,383.00
ENGI	NEER'S ESTIMA	ТЕ		50.00	15,000.00
20803-0000	CUYD	STRUCTURAL BACK	FILL		
Pavko	ov Contracting Con	npany, Inc.	350	36.00	12,600.00
Kofi (	Consulting Service	s, Inc d/b/a		60.00	21,000.00
Air Id	leal, Inc			92.31	32,308.50
ENGI	NEER'S ESTIMA	ТЕ		60.00	21,000.00
25101-5000	CUYD	PLACED RIPRAP, CLA	ASS 5		
Pavko	ov Contracting Con	npany, Inc.	230	170.00	39,100.00
Kofi (	Consulting Service	s, Inc d/b/a		75.00	17,250.00
Air Id	leal, Inc			87.79	20,191.70
ENGI	NEER'S ESTIMA	ТЕ		175.00	40,250.00
25125-0000	EACH	BOULDER			
Pavko	ov Contracting Con	npany, Inc.	14	423.00	5,922.00
Kofi (	Consulting Service	s, Inc d/b/a		500.00	7,000.00
Air Id	leal, Inc			360.57	5,047.98
ENGI	NEER'S ESTIMA	ТЕ		250.00	3,500.00
27001-0000	CUYD	GROUT			
Pavko	ov Contracting Con	npany, Inc.	2	962.00	1,924.00
Kofi (	Consulting Service	s, Inc d/b/a		500.00	1,000.00
Air Id	leal, Inc			1,262.00	2,524.00
ENGI	NEER'S ESTIMA	ТЕ		700.00	1,400.00
30110-0000	TON	AGGREGATE SURFA	CE COURSE		
Pavko	ov Contracting Con	npany, Inc.	210	95.00	19,950.00
Kofi (	Consulting Service	s, Inc d/b/a		50.00	10,500.00
Air Id	leal, Inc			72.11	15,143.10
ENGI	NEER'S ESTIMA	ТЕ		30.00	6,300.00

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
55201-0200	CUYD	STRUCTURAL CONC	RETE, CLASS A (AE)		
Pavko	v Contracting Con	pany, Inc.	130	1,034.00	134,420.00
Kofi C	Consulting Services	, Inc d/b/a		780.00	101,400.00
Air Ide	eal, Inc			1,456.16	189,300.80
ENGI	NEER'S ESTIMAT	ΓE		850.00	110,500.00
55401-1000	LB	REINFORCING STEEI			
Pavko	v Contracting Con	pany, Inc.	14,000	1.06	14,840.00
Kofi C	Consulting Services	, Inc d/b/a		2.05	28,700.00
Air Ide	eal, Inc			0.85	11,900.00
ENGI	NEER'S ESTIMAT	ſE		1.50	21,000.00
62501-0000	ACRE	TURF ESTABLISHME	NT		
Pavko	v Contracting Con	pany, Inc.	0.25	11,840.00	2,960.00
Kofi C	Consulting Services	, Inc d/b/a		20,000.00	5,000.00
Air Ide	eal, Inc			3,155.00	788.75
ENGI	NEER'S ESTIMA	ΓE		5,000.00	1,250.00
63304-0900	SQFT	SIGNS, ALUMINUM P	ANELS, TYPE 3 SHEE	TING	
Pavko	v Contracting Con	pany, Inc.	9	110.00	990.00
Kofi C	Consulting Services	, Inc d/b/a		100.00	900.00
Air Ide	eal, Inc			525.88	4,732.92
ENGI	NEER'S ESTIMA	ΓE		90.00	810.00
63503-0300	LNFT	TEMPORARY TRAFF	IC CONTROL, BARRIC	CADE TYPE 3	
Pavko	v Contracting Com	pany, Inc.	32	116.00	3,712.00
Kofi C	Consulting Services	, Inc d/b/a		75.00	2,400.00
Air Ide	eal, Inc			47.33	1,514.56
ENGI	NEER'S ESTIMAT	ΓE		50.00	1,600.00
63504-1000	SQFT	TEMPORARY TRAFF	IC CONTROL, CONSTI	RUCTION SIGN	
Pavko	v Contracting Con	pany, Inc.	41	90.00	3,690.00
Kofi (	Consulting Services	, Inc d/b/a		25.00	1,025.00
Air Ide	eal, Inc			92.34	3,785.94
ENGI	NEER'S ESTIMA	ΓE		25.00	1,025.00
63701-0000	EACH	FIELD OFFICE			
Pavko	v Contracting Com	pany, Inc.	1	11,000.00	11,000.00
Kofi C	Consulting Services	, Inc d/b/a		10,000.00	10,000.00
	eal, Inc			13,251.00	13,251.00
ENGI	NEER'S ESTIMAT	ГЕ		10,000.00	10,000.00

#### BID TOTAL CHECK PASS

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Pavkov Contracting Company, Inc.	364,118.00	364,118.00	
Kofi Consulting Services, Inc d/b/a	406,175.00	406,175.00	
Air Ideal, Inc	437,264.75	437,264.75	

The apparent low bidder is 21 % above the engineer's estimate.

#### BID ITEM CHECK PASS

Bidder	Item No.	Bidder's Extension	Computed Extension

No extension errors in this Schedule.